

MIDDLE HARBOUR CRICKET CLUB

OFFICE-BEARERS, 1906-7

Patron

Mr. DUGALD THOMSON, M.H.R.

President

Dr. D. THOMAS

Vice-Presidents

Dr. RICHARD ARTHUR, M.L.A., Messrs. A. B. CREW, J. J. CALVERT, W. H. FLETCHER, G. G. HOLE, J. T. WEDDERBURN, F. G. WILSON, J. J. LOUGH, J. W. HANSON, W. SCOTT FELL, E. H. MILLETT, F. T. SMITH, C. F. W. LLOYD, A. OGILVY, W. M. GORDON, E. RIDGE, Dr. R. POPE, J. B. MEYER, P. BYRNE, E. BADMINGTON and the MAYORS and ALDERMEN of Manly and Mosman

Honorary Life Members

Messrs. C. H. HAYES, R. PITT, C. A. LAWRENCE

Life Members

Dr. D. THOMAS, Dr. L. WATSON HARVEY, Dr. G. R. P. HALL, Hon. F. W. WEBB, M.L.C., I.S.O., Messrs. GEO. MILLER, I.S.O., J. STEDMAN, G. H. GORDON, W. H. HOLT, C. J. CARROLL, JOHN POPE, J. W. PURVES, F. P. MORRIS, P. A. O'BRIEN, A. SKIDMORE, T. J. UNDERWOOD, E. E. HASSALL, D. J. WATT J. BONNOR, S. R. WALFORD, W. H. HANNAM, J. P. WRIGHT, Jun., G. A. MOORE, R. J. WILD

Hon. Secretary
W. S. MITCHELL

Hon. Treasurer F. L. ROW

Hon. Secretaries B. and C. Teams
THE CAPTAINS

Hon. Secretary Wednesday Team R. E. ADRIAN

General Committee

D. GEE, E. W. AUSTIN, J. A. STEVENS, J. HODGKINSON, H. D. L. WOODS, C. WHIDDON, W. A. MULREADY, R. A. OXLADE, FRANK RIDGE

Ground Committee

E. H. MACK, W. S. MITCHELL, D. HOGAN

Selection Committee

F. L. ROW, D. GEE, F. RIDGE and CAPTAINS of 2nd and 3rd Elevens

Auditors

A. LEARMONTH, J. T. WEDDERBURN

Delegates to N.S.W. Cricket Association D. HOGAN, W. S. MITCHELL

ANNUAL REPORT

To the Members of the Middle Harbour Cricket Club

Gentlemen,

The Committee beg to submit their Report for the Season, 1906-7.

The three teams engaged in District Competitions met with a fair amount of success.

The 1st eleven played 10 matches, won 2, lost 6, drew 2 and came 10th on the list.

The 2nd eleven played 12 matches, won 2, lost 10 and were placed 16th in the Competition.

The 3rd eleven, after several very creditable victories, secured 11th place; they played 10 matches, won 3, lost 6 and drew 1, also tied with Sydney III.

The best individual batting performances were those of P. J. Carew of the 1st team, C. B. Cochrane of the 2nd team and H. Cropper of the 3rd team. Centuries were scored by P. J. Carew (123 not out) and J. Hodgkinson (100 not out) for the 1st eleven and by F. L. Row (108) for the 2nd eleven.

As bowlers H. Whiddon, C. Woods and J. A. Stevens were most successful for the 1st, 2nd and 3rd teams respectively. Mention can also be made of the good performance of H. C. Cropper, who bowled in both 2nd and 3rd teams and secured the greatest number of wickets, viz., 38.

Financially the season has been most satisfactory. The committee are pleased to report that after discharging all liabilities the year closed with a credit balance of £134 19s 8d a net increase of £15 5s 4d on the previous year.

The Oval was fully occupied for Wednesday and other week-day matches.

The Club Membership is encouraging, there being now 87 on the roll. The Committee wish to record their protest of the treatment of the 2nd and 3rd teams, with regard to the number of matches allttoed to them on the Domain, whilst quite ready to accept their fair share, they were hardly prepared for a monopoly of which is without doubt the worst ground around Sydney.

The Club will, it is felt sure, heartily congratulate the N.S.W. Cricket Association on the establishment of a fully representative Board of Control.

The Committee are sorry to announce the retirement of Mr. Daniel Hogan. As a Secretary and also a Delegate to the N.S.W.C.A. Mr. Hogan has largely contributed of late years to the success of the Club and his retirement will be very much regretted.

The sincere thanks of all the Members are due to Mrs. W. S. Mitchell; she, with the assistance of other Ladies, regularly dispensed Afternoon Tea, and all Players greatly appreciate these kindly services. Thanks are also due to all those Gentlemen who have supported the Club financially and to His Worship the Mayor and Aldermen for their cordial interest throughout the Season.

Thirteen meetings of the General Committee have been held during the year with the following attendance, W. S. Mitchell, 13; F. L. Row, 13; E. H. Mack, 11; J. Stevens, 11; R. A. Oxlade, 10; C. Whiddon, 9; F. Ridge, 9; H. Woods, 9; J. Hodgkinson, 8; E. W. Austin, 7; R. E. Adrian, 4; W. A. Mulready, 4; D. Gee, 4; D. Hogan, 3.

Signed on behalf of the Committee, W. S. MITCHELL, Hon. Sec.

NOTICE OF MOTION

By A. OGILVY:

A seperate Selection Committee of three members for each team shall be elected at the Annual Meeting of the Club. All vacancies on any Selection Committee shall be filled by the General Committee at their first meeting held after such vacancy or vacancies has occurred.

N.B .: Only paid-up Members will be qualified to vote at the meeting

Poles give to M.S.W. County stated and

BALANCE SHEET, SEASON 1906-7

	T. Weekeng Sammes for 25 rens	
RECEIPTS	EXPENDITURE	
£ s d £ s d	£ s d	£sd
To Balance (1905-6) A.J.S. Bank 5 5 4	By expenses on Ac. of Manly Oval.	
Savings Bank 114 9 0	" Manly Council Rent 52 0 0	
119 14 4	"Top dressing outfield 17 0 0	
" Subscriptions and Donations 78 14 0	" Cost and Cartage Bulli Soil 34 13 10	
do (Life Members) 5 5 0	"Refunds to Tennis Club for	
do (Hon. 5s. Members) 2 15 0	Sale of Bulli Soil bags 1 4 0	
——————————————————————————————————————	Water Hose 2 11 9	
, Ground Fees 61 14 6	, Water Rates 3 4 6	Tropleout 7
" Grant from Manly Council for	"Insurance on Pavilion 10 8	
top dressing oval outfield 17 0 0	jj znoutunoo on zurinon	111 4 9
" Refund from Tennis Club	" Material	40 8 3
Cost of Bulli Soil 13 16 0	" Printing and Stationery	8 11 3
" Sale of Bulli Soil bags 3 0 0	" E. W. Quirk Testimonial	annot Miss
"Refund from P.J.S.S.Co.	Fund	1 1 0
Cricket Balls lost Manly Boat 3 0 6	,, Life Members Tickets	11 9
"Interest on Savings Bank a/c 3 5 3	"Sundries	STATE OF STATE
"Sundries 6 10	Petty Expenses, Stamps,	
" Dunarios	Taking bags to matches	
	off Oval, scoring in scor-	
	ing box, Afternoon	
	Tea on Oval 11 0 2	
	" Cheque Book and Bank Charges 14 7	
	", Cheque book and bank Charges	-11 14 9
	" Credit Balance A.J.S. Bank 12 0 5	
	Sevings Benk 122 19 3	
		134 19 8
REARD by	and and and	
£308 11 5	P 81 100 10 10 11 11 1	308 11 5
2000 11 0	The contract of the contract o	

Andited and found correct

F. L. ROW, Hon. Treasurer.

BOWLING AVERAGES

8th August, 1907

ALEX LEARMONTH J. T. WEDDERBURN Auditors

BATTING AVERAGES

1st GRADE

	Ist	GRA	DE		
T 1		Not	Highest		
Batsman	Innings		Scores	Runs	Average
P. J. Carew	8	1	123*	312	44.57
D. Gee	17	0	68	420	24.70
J. Hodgkinson .	15	1	100*	339	24.21
J. Randell E. P. Woolcott .	13	3	54*	201	20.10
C. P. Woolcott .	14	2	51	210	17.50
C. Broughton	7	0	27	113	16.14
C. Brownlow	17	1	55*	255	15.93
F. M. Ridge	17	3	57	207	14.78
E. Long	9	3	28*	73	12.16
W. McIntyre	12	0	39	132	11.00
H. Whiddon	14	3	28*	96	8.72
G. Marich	7	1	16	51	8.50
Also Batted—V.	Woolcott	5 ir	nings for 2	25 runs	
J. Hoo		4	,, ,,	9 ,,	
10 8 to 10			" "	- "	
	200	GRA	DE		
D C DI					Y CANADA
R. C. Plomley	5	0	56	139	27.80
W. Allerton	6	0	64	150	25.00
C. B. Cochrane .	17	2	68*	351	23.40
F. L. Row	12	2	108	225	22.50
C. Broughton	13	1	53	230	19.16
V. Woolcott	9	0	40	148	16.44
L. Oatley	16	1	39	214	14 27
S. Evans	11	2	33	128	14.22
H. Woods	9	2	28	79	11.28
S Ridge	7	ō	29	78	11.14
R. M. Johnson	5	0	19	55	
R. Baker	12	1	31		11.00
G. Hooker	5	0		116	10.55
C. Calvert			18	39	7.80
D. Ogilvy	8	1	15*	54	7.71
A. McCubbin	7	0	13	45	6.42
		0	16	34	5.66
	6				
R. Blackman	8	0	16	44	5.50
R. Blackman C. Woods	8 12				
R. Blackman C. Woods	8 12	0 5	16 13*	44 37	5.50
R. Blackman C. Woods	8 12 ng 4 ir	0 5 nnings	16 13* Average	44 37 14.25	5.50
R. Blackman C. Woods	8 12 ng 4 ir	0 5 nnings	16 13* Average	44 37	5.50
R. Blackman C. Woods Also Batted—E. Lo H. Cro	8 12 ng 4 ir opper 4 sons 3	0 5 nnings ",	16 13* Average	44 37 14.25 13.00	5.50
R. Blackman C. Woods Also Batted—E. Lo H. Cro J. Pars	8 12 ng 4 ir opper 4 sons 3	0 5 nnings	16 13* Average	44 37 14.25 13.00 11.50	5.50
R. Blackman C. Woods Also Batted—E. Lo H. Cro J. Pars	8 12 ng 4 in opper 4 sons 3 lton 3	0 5 nnings	16 13* Average "	44 37 14.25 13.00 11.50	5.50
R. Blackman C. Woods Also Batted—E. Lo H. Cro J. Pars K. Wa	8 12 mg 4 ir opper 4 sons 3 lton 3	0 5 nnings "" GRAI	16 13* Average ""	44 37 14.25 13.00 11.50 9 50	5.50 5.28
R. Blackman C. Woods Also Batted—E. Lo H. Cro J. Pars K. Wa	8 12 mg 4 ir opper 4 sons 3 lton 3 3rd 17	0 5 nnings " " GRAI	16 13* Average "" "DE	44 37 14.25 13.00 11.50 9 50	5.50 5.28
R. Blackman C. Woods Also Batted—E. Lo H. Cro J. Pars K. Wa H. Cropper G. Lowe	8 12 mg 4 ir opper 4 sons 3 lton 3 3rd 17 14	0 5 nnings " " GRAI 0 1	16 13* Average "" "DE 98 55	44 37 14.25 13.00 11.50 9 50	5.50 5.28 18 15.69
R. Blackman C. Woods Also Batted—E. Lo H. Cro J. Pars K. Wa H. Cropper G. Lowe G. Railton	8 12 ng 4 in opper 4 sons 3 lton 3 3rd 17 14 16	0 5 nnings "" GRAI 0 1	16 13* Average "" "DE 98 55 65	44 37 14.25 13.00 11.50 9 50 306 204 216	5.50 5.28 18 15.69 14.4
R. Blackman C. Woods Also Batted—E. Lo H. Cro J. Pars K. Wa H. Cropper G. Lowe G. Railton F. Gray	8 12 ng 4 in opper 4 sons 3 lton 3 3rd 17 14 16 10	0 5 nnings "" " GRAI 0 1 1	16 13* Average "" "" DE 98 55 65 33	44 37 14.25 13.00 11.50 9 50 306 204 216 125	5.50 5.28 18 15.69 14 4 13.88
R. Blackman C. Woods Also Batted—E. Lo H. Cro J. Pars K. Wa H. Cropper G. Lowe G. Railton F. Gray A. Ogilvy	8 12 ng 4 in opper 4 sons 3 lton 3 3rd 17 14 16 10 18	0 5 nnings "" GRAI 0 1 1	16 13* Average "" "DE 98 55 65 33 60	44 37 14.25 13.00 11.50 9 50 306 204 216 125 220	5.50 5.28 18 15.69 14.4 13.88 12.94
R. Blackman C. Woods Also Batted—E. Lo H. Cro J. Pars K. Wa H. Cropper G. Lowe G. Railton F. Gray A. Ogilvy H. Rochester	8 12 ng 4 in pper 4 sons 3 lton 3 3rd 17 14 16 10 18 20	0 5 nnings "" "" GRAI 0 1 1 1 1	16 13* Average "" "DE 98 55 65 33 60 52	44 37 14.25 13.00 11.50 9 50 306 204 216 125 220 247	5.50 5.28 18 15.69 14 4 13.88 12.94 12.33
R. Blackman C. Woods Also Batted—E. Lo H. Cro J. Pars K. Wa H. Cropper G. Lowe G. Railton F. Gray A. Ogilvy H. Rochester V. Bath	8 12 ng 4 in opper 4 sons 3 lton 3 3rd 17 14 16 10 18 20 12	0 5 nnings "" " GRAI 0 1 1 1 1 0 0	16 13* Average "" "DE 98 55 65 33 60 52 32	44 37 14.25 13.00 11.50 9 50 306 204 216 125 220 247 144	5.50 5.28 18 15.69 14.4 13.88 12.94 12.33 12.
R. Blackman C. Woods Also Batted—E. Lo H. Cro J. Pars K. Wa H. Cropper G. Lowe G. Railton F. Gray A. Ogilvy H. Rochester V. Bath R. M. Johnson	8 12 ng 4 in opper 4 sons 3 lton 3 3rd 17 14 16 10 18 20 12 15	0 5 nnings "" " GRAI 0 1 1 1 0 0 0	16 13* Average "" "DE 98 55 65 33 60 52 32 26	37 14.25 13.00 11.50 9 50 306 204 216 125 220 247 144 176	5.50 5.28 18 15.69 14 4 13.88 12.94 12.33
R. Blackman C. Woods Also Batted—E. Lo H. Cro J. Pars K. Wa H. Cropper G. Lowe G. Railton F. Gray A. Ogilvy H. Rochester V. Bath R. M. Johnson H. Mulready	8 12 ng 4 in opper 4 sons 3 lton 3 3rd 17 14 16 10 18 20 12 15 13	0 5 nnings "" " GRAI 0 1 1 1 0 0 0 0	16 13* Average "" "DE 98 55 65 33 60 52 32 26 37	306 204 216 220 247 144 176 126	18 15.69 14.4 13.88 12.94 12.33 12. 11.75 10.5
R. Blackman C. Woods Also Batted—E. Lo H. Cro J. Pars K. Wa H. Cropper G. Lowe G. Railton F. Gray A. Ogilvy H. Rochester V. Bath R. M. Johnson H. Mulready N. Plomley	8 12 ng 4 in opper 4 sons 3 lton 3 3rd 17 14 16 10 18 20 12 15 13 9	0 5 nnings "" " GRAI 0 1 1 1 0 0 0 0 1 1 2	16 13* Average "" "DE 98 55 65 33 60 52 32 26	37 14.25 13.00 11.50 9 50 306 204 216 125 220 247 144 176	18 15.69 14.4 13.88 12.94 12.33 12. 11.75 10.5 8.57
R. Blackman C. Woods Also Batted—E. Lo H. Cro J. Pars K. Wa H. Cropper G. Lowe G. Railton F. Gray A. Ogilvy H. Rochester V. Bath R. M. Johnson H. Mulready N. Plomley J. A. Stevens	8 12 ng 4 in opper 4 sons 3 lton 3 3rd 17 14 16 10 18 20 12 15 13	0 5 nnings "" " GRAI 0 1 1 1 0 0 0 0	16 13* Average "" "DE 98 55 65 33 60 52 32 26 37	306 204 216 220 247 144 176 126	18 15.69 14.4 13.88 12.94 12.33 12. 11.75 10.5
R. Blackman C. Woods Also Batted—E. Lo H. Cro J. Pars K. Wa H. Cropper G. Lowe G. Railton F. Gray A. Ogilvy H. Rochester V. Bath R. M. Johnson H. Mulready N. Plomley J. A. Stevens E. Isherwood	8 12 ng 4 in opper 4 sons 3 lton 3 3rd 17 14 16 10 18 20 12 15 13 9	0 5 nnings "" " GRAI 0 1 1 1 0 0 0 0 1 1 2	16 13* Average "" "DE 98 55 65 33 60 52 32 26 37 17*	44 37 14.25 13.00 11.50 9 50 306 204 216 125 220 247 144 176 126 60	18 15.69 14.4 13.88 12.94 12.33 12. 11.75 10.5 8.57
R. Blackman C. Woods Also Batted—E. Lo H. Cro J. Pars K. Wa H. Cropper G. Lowe G. Railton F. Gray A. Ogilvy H. Rochester V. Bath R. M. Johnson H. Mulready N. Plomley J. A. Stevens	8 12 ng 4 in opper 4 sons 3 lton 3 3rd 17 14 16 10 18 20 12 15 13 9 18	0 5 nnings "" " GRAI 0 1 1 1 0 0 0 1 1 2 7	16 13* Average """ DE 98 55 65 33 60 52 32 26 37 17* 20	44 37 14.25 13.00 11.50 9 50 306 204 216 125 220 247 144 176 126 60 83	18 15.69 14.4 13.88 12.94 12.33 12. 11.75 10.5 8.57 7.55
R. Blackman C. Woods Also Batted—E. Lo H. Cro J. Pars K. Wa H. Cropper G. Lowe G. Railton F. Gray A. Ogilvy H. Rochester V. Bath R. M. Johnson H. Mulready N. Plomley J. A. Stevens E. Isherwood Harrison	8 12 ng 4 in ppper 4 sons 3 lton 3 3rd 17 14 16 10 18 20 12 15 13 9 18 10 6	0 5 nnings "" " GRAI 0 1 1 1 1 0 0 0 1 1 2 7 1 1	16 13* Average """ DE 98 55 65 33 60 52 32 26 37 17* 20 25 10	44 37 14.25 13.00 11.50 9 50 306 204 216 125 220 247 144 176 126 60 83 63 29	5.50 5.28 18 15.69 14.4 13.88 12.94 12.33 12. 11.75 10.5 8.57 7.55 7.
R. Blackman C. Woods Also Batted—E. Lo H. Cro J. Pars K. Wa H. Cropper G. Lowe G. Railton F. Gray A. Ogilvy H. Rochester V. Bath R. M. Johnson H. Mulready N. Plomley J. A. Stevens E. Isherwood Harrison Also Batted—L. Oatl	8 12 ng 4 in pper 4 sons 3 lton 3 3rd 17 14 16 10 18 20 12 15 13 9 18 10 6 ey 2 in	0 5 nnings "" " GRAI 0 1 1 1 0 0 0 0 1 1 2 7 1 1 1 1 nnings	16 13* Average """ DE 98 55 65 33 60 52 32 26 37 17* 20 25 10 Average	44 37 14.25 13.00 11.50 9 50 306 204 216 125 220 247 144 176 60 83 63 29 100	5.50 5.28 18 15.69 14.4 13.88 12.94 12.33 12. 11.75 10.5 8.57 7.55 7.
R. Blackman C. Woods Also Batted—E. Lo H. Cro J. Pars K. Wa H. Cropper G. Lowe G. Railton F. Gray A. Ogilvy H. Rochester V. Bath R. M. Johnson H. Mulready J. A. Stevens E. Isherwood Harrison Also Batted—L. Oatl A. McCul	8 12 ng 4 in pper 4 sons 3 lton 3 3rd 17 14 16 10 18 20 12 15 13 9 18 10 6 ey 2 in obin 3	0 5 nnings "" GRAI 0 1 1 1 0 0 0 0 1 2 7 1 1 1 1 1 1 2 7	16 13* Average """ DE 98 55 65 33 60 52 32 26 37 17* 20 25 10 Average	44 37 14.25 13.00 11.50 9 50 306 204 216 125 220 247 144 176 60 83 63 29 100 26	5.50 5.28 18 15.69 14.4 13.88 12.94 12.33 12. 11.75 10.5 8.57 7.55 7.
R. Blackman C. Woods Also Batted—E. Lo H. Cro J. Pars K. Wa H. Cropper G. Lowe G. Railton F. Gray A. Ogilvy H. Rochester V. Bath R. M. Johnson H. Mulready J. A. Stevens E. Isherwood Harrison Also Batted—L. Oatl A. McCul P. Lowe	8 12 ng 4 in opper 4 sons 3 lton 3 3rd 17 14 16 10 18 20 12 15 13 9 18 10 6 ey 2 in obin 3	0 5 nnings "" " GRAI 0 1 1 1 1 0 0 0 1 1 2 7 1 1 1 nnings	16 13* Average """ DE 98 55 65 33 60 52 32 26 37 17* 20 25 10 Average ""	44 37 14.25 13.00 11.50 9 50 306 204 216 125 220 247 144 176 126 60 83 63 29 100 26 15.25	5.50 5.28 18 15.69 14.4 13.88 12.94 12.33 12. 11.75 10.5 8.57 7.55 7.
R. Blackman C. Woods Also Batted—E. Lo H. Cro J. Pars K. Wa H. Cropper G. Lowe G. Railton F. Gray A. Ogilvy H. Rochester V. Bath R. M. Johnson H. Mulready N. Plomley J. A. Stevens E. Isherwood Harrison Also Batted—L. Oatl A. McCul P. Lowe Walton	8 12 ng 4 in opper 4 sons 3 lton 3 3rd 17 14 16 10 18 20 12 15 13 9 18 10 6 ey 2 in opper 4	0 5 nnings " " " " GRAI 0 1 1 1 1 0 0 0 1 1 2 7 1 1 1 nnings " " " "	16 13* Average """ DE 98 55 65 33 60 52 32 26 37 17* 20 25 10 Average """	44 37 14.25 13.00 11.50 9 50 306 204 216 125 220 247 144 176 126 60 83 63 29 100 26 15.25 10	5.50 5.28 18 15.69 14.4 13.88 12.94 12.33 12. 11.75 10.5 8.57 7.55 7.
R. Blackman C. Woods Also Batted—E. Lo H. Cro J. Pars K. Wa H. Cropper G. Lowe G. Railton F. Gray A. Ogilvy H. Rochester V. Bath R. M. Johnson H. Mulready N. Plomley J. A. Stevens E. Isherwood Harrison Also Batted—L. Oatl A. McCul P. Lowe Walton J. McDon	8 12 ng 4 in opper 4 sons 3 lton 3 3rd 17 14 16 10 18 20 12 15 13 9 18 10 6 ey 2 in obin 3 4 4 add 2	0 5 nnings " " " " GRAI 0 1 1 1 1 0 0 0 1 1 2 7 1 1 1 nnings " " " " " " " "	16 13* Average """ DE 98 55 65 33 60 52 32 26 37 17* 20 25 10 Average """ ""	44 37 14.25 13.00 11.50 9 50 306 204 216 125 220 247 144 176 126 60 83 363 29 100 26 15.25 10 8	5.50 5.28 18 15.69 14.4 13.88 12.94 12.33 12. 11.75 10.5 8.57 7.55 7.
R. Blackman C. Woods Also Batted—E. Lo H. Cro J. Pars K. Wa H. Cropper G. Lowe G. Railton F. Gray H. Rochester V. Bath R. M. Johnson H. Mulready N. Plomley J. A. Stevens E. Isherwood Harrison Also Batted—L. Oatl A. McCul P. Lowe Walton J. McDon J. Brownl	8 12 ng 4 in opper 4 sons 3 lton 3 3rd 17 14 16 10 18 20 12 15 13 9 18 10 6 ey 2 in obin 3 4 4 add 2 ow 1	0 5 nnings "" "" "" "" "" "" "" "" "" "" "" "" ""	16 13* Average """ DE 98 55 65 33 60 52 32 26 37 17* 20 25 10 Average """	306 204 216 220 247 144 176 126 60 83 63 29 100 26 15.25 10 8 6	5.50 5.28 18 15.69 14.4 13.88 12.94 12.33 12. 11.75 10.5 8.57 7.55 7.
R. Blackman C. Woods Also Batted—E. Lo H. Cro J. Pars K. Wa H. Cropper G. Lowe G. Railton F. Gray A. Ogilvy H. Rochester V. Bath R. M. Johnson H. Mulready N. Plomley J. A. Stevens E. Isherwood Harrison Also Batted—L. Oatl A. McCul P. Lowe Walton J. McDon J. Brownl R. A. Oxl	8 12 ng 4 in opper 4 sons 3 lton 3 3rd 17 14 16 10 18 20 12 15 13 9 18 10 6 ey 2 in obin 3 4 add 2 ow 1 add 4	0 5 nnings " " " " " " " " " " " " " " " " " " "	16 13* Average """ DE 98 55 65 33 60 52 32 26 37 17* 20 25 10 Average """ ""	44 37 14.25 13.00 11.50 9 50 306 204 216 125 220 247 144 176 60 83 63 29 100 26 15.25 10 8 6 4.5	5.50 5.28 18 15.69 14.4 13.88 12.94 12.33 12. 11.75 10.5 8.57 7.55 7.
R. Blackman C. Woods Also Batted—E. Lo H. Cro J. Pars K. Wa H. Cropper G. Lowe G. Railton F. Gray A. Ogilvy H. Rochester V. Bath R. M. Johnson H. Mulready N. Plomley J. A. Stevens E. Isherwood Harrison Also Batted—L. Oatl A. McCul P. Lowe Walton J. McDon J. Brownl R. A. Oxl H. McDon	8 12 ng 4 in opper 4 sons 3 lton 3 3rd 17 14 16 10 18 20 12 15 13 9 18 10 6 ey 2 in obin 3 4 add 2 ow 1 ade 4 hald 1	0 5 nnings "" "" "" "" "" "" "" "" "" "" "" "" ""	16 13* Average """ DE 98 55 65 33 60 52 32 26 37 17* 20 25 10 Average """ """	44 37 14.25 13.00 11.50 9 50 306 204 216 125 220 247 144 176 60 83 63 29 100 26 15.25 10 8 6 4.5 2	5.50 5.28 18 15.69 14.4 13.88 12.94 12.33 12. 11.75 10.5 8.57 7.55 7.
R. Blackman C. Woods Also Batted—E. Lo H. Cro J. Pars K. Wa H. Cropper G. Lowe G. Railton F. Gray A. Ogilvy H. Rochester V. Bath R. M. Johnson H. Mulready N. Plomley J. A. Stevens E. Isherwood Harrison Also Batted—L. Oatl A. McCul P. Lowe Walton J. Brownl R. A. Oxl H. McDon S. Plomle	8 12 ng 4 in opper 4 sons 3 lton 3 3rd 17 14 16 10 18 20 12 15 13 9 18 10 6 ey 2 in obin 3 4 add 2 ow 1 add 4 nald 1 y 1	0 5 nnings " " " " " " " " " " " " " " " " " " "	16 13* Average """ DE 98 55 65 33 60 52 32 26 37 17* 20 25 10 Average """ """ """	44 37 14.25 13.00 11.50 9 50 306 204 216 125 220 247 144 176 60 83 63 29 100 26 15.25 10 8 6 4.5 2 1	5.50 5.28 18 15.69 14.4 13.88 12.94 12.33 12. 11.75 10.5 8.57 7.55 7.
R. Blackman C. Woods Also Batted—E. Lo H. Cro J. Pars K. Wa H. Cropper G. Lowe G. Railton F. Gray A. Ogilvy H. Kochester V. Bath R. M. Johnson H. Mulready N. Plomley J. A. Stevens E. Isherwood Harrison Also Batted—L. Oatl A. McCul P. Lowe Walton J. McDon J. Brownl R. A. Oxl H. McDon S. Plomle W. F. Jon	8 12 ng 4 in opper 4 sons 3 lton 3 3rd 17 14 16 10 18 20 12 15 13 9 18 10 6 ey 2 in obin 3 4 ald 2 ow 1 ald 2 ow 1 ald 4 hald 1 y 1 hes 4	0 5 nnings " " " " " " " " " " " " " " " " " " "	16 13* Average """ DE 98 55 65 33 60 52 32 26 37 17* 20 25 10 Average """ """ """ """	44 37 14.25 13.00 11.50 9 50 306 204 216 125 220 247 144 176 126 60 83 63 29 100 26 15.25 10 8 6 4.5 2 1 0 1 0 1 0 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0	5.50 5.28 18 15.69 14.4 13.88 12.94 12.33 12. 11.75 10.5 8.57 7.55 7.
R. Blackman C. Woods Also Batted—E. Lo H. Cro J. Pars K. Wa H. Cropper G. Lowe G. Railton F. Gray A. Ogilvy H. Rochester V. Bath R. M. Johnson H. Mulready N. Plomley J. A. Stevens E. Isherwood Harrison Also Batted—L. Oatl A. McCul P. Lowe Walton J. McDon J. Brownl H. McDon S. Plomle W. F. Jon A. Lowe	8 12 ng 4 in opper 4 sons 3 lton 3 3rd 17 14 16 10 18 20 12 15 13 9 18 10 6 ey 2 in obin 3 4 ald 2 ow 1 ade 4 nald 1 y 1 nes 4	0 5 nnings """ GRAI 0 1 1 1 1 0 0 0 0 1 1 2 7 1 1 1 1 nnings	16 13* Average """ DE 98 55 65 33 60 52 32 26 37 17* 20 25 10 Average """ "" "" "" "" "" "" ""	44 37 14.25 13.00 11.50 9 50 306 204 216 125 220 247 144 176 126 60 83 63 29 100 26 15.25 10 8 6 4.5 2 1 0.66 0.5	5.50 5.28 18 15.69 14.4 13.88 12.94 12.33 12. 11.75 10.5 8.57 7.55 7.
R. Blackman C. Woods Also Batted—E. Lo H. Cro J. Pars K. Wa H. Cropper G. Lowe G. Railton F. Gray A. Ogilvy H. Rochester V. Bath R. M. Johnson H. Mulready N. Plomley J. A. Stevens E. Isherwood Harrison Also Batted—L. Oatl A. McCud P. Lowe Walton J. Brownl R. A. Oxl H. McDon J. Brownl R. A. Oxl H. McDon S. Plomle W. F. Jon A. Lowe D. Ogilvy	8 12 ng 4 in opper 4 sons 3 lton 3 3rd 17 14 16 10 18 20 12 15 13 9 18 10 6 ey 2 in obin 3 4 4 add 2 ow 1 ade 4 nald 1 y 1 nes 4	0 5 nnings " " " " " " " " " " " " " " " " " " "	16 13* Average """ DE 98 55 65 33 60 52 32 26 37 17* 20 25 10 Average """ """ """ """ """ """ """ """ """ "	44 37 14.25 13.00 11.50 9 50 306 204 216 125 220 247 144 176 126 60 83 63 29 100 26 15.25 10 8 6 4.5 2 1 0 1 0 1 0 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0	5.50 5.28 18 15.69 14.4 13.88 12.94 12.33 12. 11.75 10.5 8.57 7.55 7.
R. Blackman C. Woods Also Batted—E. Lo H. Cro J. Pars K. Wa H. Cropper G. Lowe G. Railton F. Gray A. Ogilvy H. Rochester V. Bath R. M. Johnson H. Mulready N. Plomley J. A. Stevens E. Isherwood Harrison Also Batted—L. Oatl A. McCul P. Lowe Walton J. McDon J. Brownl H. McDon S. Plomle W. F. Jon A. Lowe	8 12 ng 4 in opper 4 sons 3 lton 3 3rd 17 14 16 10 18 20 12 15 13 9 18 10 6 ey 2 in obin 3 4 4 add 2 ow 1 ade 4 nald 1 y 1 nes 4	0 5 nnings """ GRAI 0 1 1 1 0 0 0 1 1 2 7 1 1 1 nnings """ "" "" "" "" "" "" "" "" "" "" "" "	16 13* Average """ DE 98 55 65 33 60 52 32 26 37 17* 20 25 10 Average """ """ """ """ """ """ """ """ """ "	44 37 14.25 13.00 11.50 9 50 306 204 216 125 220 247 144 176 126 60 83 63 29 100 26 15.25 10 8 6 4.5 2 1 0.66 0.5	5.50 5.28 18 15.69 14.4 13.88 12.94 12.33 12. 11.75 10.5 8.57 7.55 7.

BOWLING AVERAGES

1st GRADE

Bowler				Overs	Maidens	Runs	Wickets	Average
H. Whiddon	1			107	7	607	27	22.48
J. Randell				115	15	438	18	24.33
D. Gee .				88	11	365	15	24.33
P. J. Carew				58	4	230	9	25.55
E. Long .				26	4	117	4	29.25
G. Hooker				26	2	107	3	35.66
G. Marich				60	8	261	3	87 00
E. P. Woolco	ott			38	5	110	1	110.00
Also bowled-					4 wickets	s Avera	ge 17.50	
	F.	. I	Rov	V	1 ,,	"	47.00	

	21	d GR.	ADE		
H. C. Cropper	. 26	2	100	9	11.10
G. Hooker	61	8	198	12	16.51
W. Allerton	. 39	3	137	8	17.12
C. Woods	127	21	430	23	18.69
R. M. Johnstone .	. 36	3	187	10	18.70
K. Walton	. 26	1	130	6	21.66
F. Row	. 74	14	288	11	26.18
R. Blackman	. 70	5	358	13	27.53
V. Woolcott	22	4	88	3	29.33
C. B. Cochrane .	26	0	118	4	29.50
E. Long	16	3	59	2	29.50
S. Ridge	. 17	0	101	3	33.66
R. Baker	107	8	408	12	34.00
S. Evans	15	0	73	1	73.00

				3rd	GR.	ADE			
II beas	-			Overs		Runs	Wicke	t	Average
Stevens .				99		342	33		10.36
McCubbin				16		63	- 6		10.5
Gray				31.2		122	10		12.2
Cropper .		-	-	99.1		395	29		13.62
Railton				45.1		157	11		14.27
Harrison				10		29	2		14.5
Jones	Q.F		7.33	22		80	5		16.
A. Ogilvy				38.3		150	9		16.66
Johnson .				118.5		479	28		17.1
Isherwood				14		74	2		37.
Walton .				26		95	0		
Also bowled	l—E	Ι.	Mcl	Donald	4 w	ickets	Average	12.	5
	N.	P	lom	ley	1	,,	,,	16	
				onald	1	,,	•,	26	
	Oa	tl	ev		1	,,	,,	30	
			ome	V	0	.9	3,		
	Ba				0	,,	,,		
			owe		0	,,	,,		